Unit Conversions with

 Ol’Mortimer, Bob The Rabid Goat 

and the Jolly Green Giant..

1. Bob was driving on a highway in Montreal. He was stopped by a Mountee. The Mountee said, “Vous etes tres stupide… Savez-vous votre mit de vitesse??? 175km/hr!!!” Now Bob doesn’t know French too well – but he could see that the cop was mad; but he couldn’t understand why. Help Bob with his speed issue – tell him how fast he was going in mi/hr.
2. If you have 65 zots, how many bulks do you have? 

3. Mort was riding a rather large elephant. It sat on Bob (poor Bob). The elephant’s owner said the he had a mass of 3.16·106g. “Hard to imagine,” said Bob, “how many tons is that???” 
4. Bob and Mort were talking about the light years. Mort said, “Wow – a light year – what a long time…” Bob had to explain to Mort that a light year was a distance not a length of time… If light travels at 3·108m/s, how far is a light year?

5. Convert 55 mi/hr to m/s.

6. “JGG” wants chicken for dinner. He buys a one ton chicken at the supermarket. He is not sure how long to cook it for. The directions are for little people, not giants, and instruct that every 800 grams of chicken takes 1 hour to cook. How long should he cook his chicken for?

7. The volume of the average chicken is about 3L. The average chicken has a mass of 2500g. What is the volume of JGG’s chicken?

8. JGG decides to take a walk after dinner, with Sprout (that’s his little side-kick). Sprout gets quite a workout because JGG’s strides are so huge and Sprout struggles to keep up. JGG walks 3km in 3 seconds, (or 1km/s). What is JGG’s speed in km/hr? 
9. From the above answer, what is JGG’s speed in miles/hour?

10. The average chicken will supply about 5000 calories. The average person needs about 2000 calories a day. How many days’ worth of calories will a person get if they had JGG’s chicken?

Stuff you need:

1 ton = 2000 lb


1 zot = 627 clod

1 lb = 453.59g


1 clod = 11.29 block




1 mi = 1.61 km


1 block = 8.02 bulk


1 in = 2.54 cm
